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QueSiOnNo.1
Rccords of Sangam Cold rettgerator company show the following info.11latiOn for

the thtte inonths ended March 31,2014

…ルlo"Fiは,P119Ⅲゃ91……………………………………               Rs  l,946,700
1nventoFiCS,Jan11カryl,2014

Finished goods (100 refrigerators) Rs    43,000
Materials Rs 2`lpQQ_____……
Direct labour Rs  2,125,800

Rs   764,000Factory overhead

Marketing expenses Rs 516,000

Rs.    461,000Gencral and administrative exPens,ユ ………………………… … …… ……… ……… …… …… ……… …・・…。・・
Rs.   6,634,000シ̈い(1■4∞ 19単g■攣 )…………………………………………………………………

Inventories,ヽ 4arch 31,2014

No unfinished work on hand
Finished goods (200 refrigerators), costed at Rs.395 each

Materials 167.000
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An income statement for the period.
The number of units manufactured.
The unit cost ofrefrigerators manufactured.
The gross profit per unit sold.
The income per unit sold.
The ratio of gross pr',cfit to sales.
The incomc to sales percentage.

Question No.2

During the month of March the following costs were incurred in department No. 2 of
Mian Paints Industry:

Materials cost Rs 9,000

Labor cost Rs 4,250

Iryl::y..q-'qtq4."91! ... .1t:1,-1-99-

During the month 20,000 units with a total cost of Rs.38,000 were transferred into

departrnent from Department No. l. Of these 15,000 units were completed and

transferred to department No. 3 and 4,000 units were in process on 31't March being

% complete as to materials, % complete as to labor and factory overhead.

Required: A cost of production report of department 2 for the month of March.

Question No.3

Predetermined factory overhead absorption rate computed by Ahsan Industries is Rs.6 per

machine hour. Budgeted factory overhead for activity level of 150,000 machine hours is

Rs.800,000 and for activity level of 100,000 machine hours it is Rs.700,000. Actual factory

overhead incurred during the year is Rs. 710,000 at an actual volume of 120,000 machine hours.

Required: (i) Variable factory overhead absorption rate.

(iD Budgeterl tixed tactory overhcad.

(ii| Budgeted activity level on which the absorption rate is based.

(iv) Over or under absorbed factory overhead.

(") Vr.llume variance.

(vi) iipending variance.

(P.T.0.)
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Required:



Question No.4

Following estimates relate to material "Alpha"

l:.sr,l.'qr:.{.[g-tl:.{.T:ryH "..... 9999 vrlt:
99.:tLq.plry-'T.9"'-q-"r. Silg. -.-----------:
Unit cost Rs.4.80

Q"*r!rc.igi!. . ....... . .... ........... . .. 1'/: " 1.

Required:

1. Calculate economic order quantity.

2. Currently the company is purchasing this material in lots of,4,000 units. How

much can the company save by buying in the most economical quantities.

Question No.5
a- A company had following inventorics at the bcginning and end of the month:

SePtember 1 SePtember 30

Materials Rs.2o,ooo Rs'25,ooo --,

..yb.*.isiiie-qe!.q;.,It?it"t"i!........................:...:i:,.e.p99........r,.t*ig----
_wo_rk_in-pl999!_s---_:Jplggf_-. ._.-__.----_[:,19..99-9.--- .-$:1-Q.999-...

_WttКttp聖9翌三119■ _……        Rs.5′ 000 Rs. 6,000

EⅢ典

"_毀"■

_______         Rs.12′ 000 Rs.25,000

Dtring the month of September the cost of raw materials purchased was Rs.60,000; direct labour

cost incurred was Rs.80,000 and factory overhead applied to production was Rs.30,000.

Required: Prepare the necessary journal entries on September 30 to transfer the cost of
goods manufactured and sold to proper summary accounts.

b- Pass journal entries for sales retum with your own figures. (

Question No.6
Four direct workers are engaged in an operation for which standard production time per piece is
determined as 48 seconds. Standard hourly rate of the workers is Rs.33.75. During a 40 hours
week output of the four workers is as follow:
A : 2,800 pieces

C : 3,000 pieces
B
D

= 2,900 pieces
: 3,200 pieces

time rate earnings are
＼
ヽWages of the workers are computed under straight piece rate but

guaranteed to the workers.
Required:

l. Compute wages earned by each worker.
2. Compute distribution of wages between work in process and factory overheads.

Question No.7
Define cost accounting and differentiate between cost accounting and financial accounting.

Question No.8
What are the various methods of stock valuation. State advantages and disadvantages of each
method.
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